MacAulay (1992)
Elicited by Sylvia Reed, 11/17/2008; Session 8(08); Track 124

Unmarked notes are based on information in MacAulay. Marked notes are from Reed.

Adjustments to the sentences and glosses are made with braces ({}) when an addition has been made and strike through (this) when something has been removed.

1. Sheas

Iain
agus
shuidh
Anna.

stand.past
John
and
sit.past
Anna

‘John stood and Anna sat.’

Note: Clausal Conjunction.

2. Sheas

Iain
nuair
a

shuidh
Anna.

stand.past
John
when
WhComp
sit.past
Anna

‘John stood {up} when Anna sat {down}.’

SR Note: note additions

3. Sheas

Iain
[an dèidh]
do
Anna
suidhe.

stand.past
John
after

to
Anna
sit.vn

‘John stood {up} after Anna sat {down}.’

4. a.
Sheas

Iain
agus
Anna
a’
suidhe.

stand.past
John
and
Anna
prog
sit.vn

‘John stood while Anna was sitting.’

Note: Contemporal clause

SR Note: Dispreferred to 4b for my NSC.


4.
b.
Sheas

Iain
[fhad
‘s a]
bha
Anna
a’
suidhe.




stand.past
John
while

be.past
Anna
prog
sit.vn




‘John stood while Anna was sitting.’




SR Note: Preferred to 4a for my NSC.

5. *Sheas

Iain
ach
Anna
a’
suidhe.

stand.past
John
but
Anna
prog
sit.vn

* ‘John stood but Anna was sitting.’

SR Note: Ungrammaticality expected by MacAulay.

6. Sheas

Iain
agus
Anna
air
suidhe.

stand.past
John
and
Anna
on/perf
sit.vn

???‘John stood after (and probably as a result of the fact that) Anna had sat.’

SR Note: NSC gives available interpretation as someone reporting what is presently going on, for instance what a helper might tell a director about what the actors are doing: “John stood up and Anna…just sat down?”

Note: Another aspectually marked clause introduced by “agus.”

7. Sheas

Iain
bhon
a

shuidh
Anna.

stand.past
John
from
WhComp
sit.past
Anna

‘John stood because Anna sat.’

Note: Another “consequence” clause, like many such clauses similar in structure to [2].
SR Note: NSC prefers ‘John stood since Anna sat.’

8. *Sheasadh
Iain
ach
Anna
suidhe

stand.cond
John
but
Anna
sit.vn

* ‘John would stand provided that Anna sat.”

Note: “Ach” used to conjoin dependency-related structures such as this concessive clause.

SR Note: Ungrammaticality NOT expected by MacAulay.

9. Shuidh

Iain
le
stòl
fhaighinn
dha
fhèin.

sit.past

John
with
stool
get.vn
to.3ms
self

‘John sat by getting a stool for himself.’

Note: Similar to [8], but this uses “le” to denote a clause of “means-of-affecting-something.” 
10. Shuidh
Iain
gus
an

suidheadh
Anna.

sit.past
John
so
WhComp
sit.cond
Anna

‘John sat so that Anna would sit.’

Note: A purpose clause.

11. Shuidh
Iain
far
an

do
shuidh
Anna.

sit.past
John
where
WhComp
past
sit.past
Anna

‘John sat where Anna sat.’

Note: A locational clause.

12. Suidhidh
Iain
ma
shuidh
Anna.

sit.fut

John
if
sit.past
Anna

‘John will sit if Anna sat.’

Note: A conditional clause of realized condition.

13. Shuidheadh
Iain
nan
suidheadh
Anna.

sit.cond
John
if
sit.cond
Anna

‘John would sit if Anna would sit.’

Note: A conditional clause of unrealized condition.

14. Chunnaic
Iain
gun

{do}
dh’ith

an
cù
an
t-aran.

see.past
John
DeclComp
past
eat.past
the.sm
dog.sm
the
bread

‘John saw that the dog ate the bread.’

SR Note: NSC required the addition of do ‘[past]’ to make this sentence grammatical.

15. Chunnaic
Iain
Anna
agus
i
aig
an
dorus.

see.past
John
Anna
and
3sf
at
the.sm
door.sm

?? ‘John saw Anna as she was at the door.’

‘John saw Anna—and her at the door!!’ 

Note: Showing a contemporal subordinate clause similar to [4] and [6]. MacAulay thinks that subordinate clauses are best regarded as sentential adjuncts.

SR Note: NSC does not like original gloss. Says the conjoined part sounds like a comment at the end.

16. Chunnaic
Iain
Anna
aig
an
dorus.

see.past
John
Anna
at
the.sm
door.sm

‘John saw Anna at the door.’

Note: See [15]. Note that this sentence is ambiguous; it can relate either to the sense expressed in [15] or [17] 

17. Chunnaic
Iain
Anna
agus
e
aig
an
dorus.

see.past
John
Anna
and
3sm
at
the.sm
door.sm

??‘John saw Anna as he was at the door.’

‘John saw Anna—and him at the door.’

Note: See [15].

SR Note: SR Note: NSC does not like original gloss. Says the conjoined part sounds like a comment at the end.

18. Chunnaic Iain
Anna
{na}


seasamh
aig
an 
dorus.

see.past   John
Anna
stative.poss.3sf
stand.vn
at
the.sm
door.sm


‘John saw Anna standing [lit. “in her standing”] at the door.’

Note: Showing how the ambiguity in a sentence such as [16] can be made clear. Compare [19].

SR Note: MacAulay had ‘n a (in + 3sf.poss); NSC (and others?!) write combined as ‘na’

19. Chunnaic Iain
Anna
{na} 


sheasamh
aig
an
dorus.

see.past   John
Anna
stative.poss.3sm
stand.vn
at
the.sm
door.sm

‘John saw Anna standing [lit. “in his standing”] at the door.’

Note: See [18].

SR Note: NSC says this one almost implies that someone had asked, ‘how did he get to see her?’ and that the word order is slightly non-standard.

20. *Rinn
Iain
falbh.

do.past
John
leave.vn

*‘John left.’ [Lit. “John made a leaving.”]

SR Note: MacAulay expected grammatical. NSC does not accept this one.

21. *Chaidh

falbh.

go.past

leave.vn

* ‘There was a leaving.’ [Fig. ‘People departed.’]

Note: Illustration of the impersonal pro-verb.

SR Note: MacAulay expected grammatical. NSC does not accept this one.

22. Tha
Iain
a’
falbh.

be.pres
John
prog/at
leave.vn

‘John is leaving.’

Note: Here the pro-verb “tha” marks the sentence as “stative” although the lexical verb is usually associated with dynamic situations.
23. Dh’iarr

Iain
air
Anna
(i)
leabhar

a
cheannach.

ask.past
John
on
Anna
(3sf)
book

tran
buy.vn

‘John asked Anna to buy a book.”

Note: Showing that non-finite subordinate clauses have the structure SOV. The subject here is optional because it refers to the matrix indirect object, but were it to have a different reference it would be obligatory.

SR Note: NSC does not accept the sentence with the overt pronoun.

24. Chaidh
am
balach

do ’n
{dhan a’}
sgoil.

go.past
the.sm
boy.sm


to.the the.sf
school.sf

‘The boy went to the school.’

Note: Illustrating the difference between positive and negative sentences, showing that the positive sentences are unmarked while negative sentences are marked. This is an example of a positive sentence.

SR Note: NSC uses ‘dhan a’’ instead of ‘do ’n’ for ‘to the’.

25. Cha
deachaidh
am
balach
do ’n
{dhan a’}
sgoil.

not
go.past.dep
the.sm
boy.sm

to.the the.sf
school.sf

‘The boy did not go to the school.’

Note: See [24].

SR Note: NSC uses ‘dhan a’’ instead of ‘do ’n’ for ‘to the’.

SR Note: NSC spells ‘deachaidh’ as ‘deach’

26. Thubhairt
Iain
nach

deachaidh 
am
balach
do ’n
{dhan a’}


say.past
John
NegComp
go.past.dep
the.sm
boy.sm

to.the the.sf

sgoil.

school.sf

‘John said that the boy didn’t go to the school.’

Note: Demonstrating the use of “nach” in a finite dependent clause.

SR Note: NSC uses ‘dhan a’’ instead of ‘do ’n’ for ‘to the’.

SR Note: NSC spells ‘deachaidh’ as ‘deach’

27. Thubhairt
Iain
gun

am
balach

a
dhol


say.past
John
NegDeclComp
the.sm
boy.sm

tran
go.vn



do ’n
{dhan a’}
sgoil.


to.the the.sf
school.sf


*‘John said the boy shouldn’t go to the school.’


‘John didn’t clearly want the boy to go to school.’

Note: Demonstrating the use of “gun,” the negative particle in non-finite clauses.

SR Note: NSC does not accept the meaning listed by MacAulay.

SR Note: NSC uses ‘dhan a’’ instead of ‘do ’n’ for ‘to the’.

28. Chaidh
am
balach
do ’n
{dhan a’}
sgoil

gun


Iain

go.past
the.sm
boy.sm

to.the
the.sf
school.sf
NegDeclComp

John

a

fhaicinn.

poss.3sm
see.vn

‘The boy went to the school without Iain seeing him.’

Note: Demonstrating the use of “gun,” the negative particle in non-finite clauses.
SR Note: NSC uses ‘dhan a’’ instead of ‘do ’n’ for ‘to the’.
29. Tha

am
balach
a’
falbh.

be.pres

the.sm
boy.sm
at/prog
leave.vn

‘The boy is leaving.’

Note: Showing use of “tha + ag/aig” to demonstrate the progressive aspect.

30. Tha
am
balach

a’
ceannach
an

leabhair.

be.pres
the.sm
boy.sm

at/prog
buy.vn

the.sm.gen
book.sm.gen

‘The boy is buying the book.’

Note: Showing how the verbal noun can head a noun phrase, with its “object” linked to it by the genitive.

SR Note: NSC accepts the genitive but would not produce it herself; she would use ‘leabhar’ or really ‘leobhar’

31. Tha
am
balach
’g

a

cheannach.

be.pres
the.sm
boy.sm at/prog

poss.3sm
buy.vn

‘The boy is buying it.’

Note: Showing how when the object of the verbal noun is pronominal, it becomes a possessive pronoun modifying the verbal noun.

SR Note: NSC would write ‘ga’.

32. Tha
am
balach

air

falbh.

be.pres
the.sm
boy.sm

on/perf

leave.vn

‘The boy has left.’

Note: Showing how the perfective aspect is similar to the progressive, but using “air” instead of “a(i)g.”

33. Tha
am
balach

air
an
leabhar

a
cheannach.

be.past
the.sm
boy.sm

on/perf
the.sm
book.sm.dat
tran
buy.vn

Note: See [32]. Note, however, that unlike in the progressive aspect, the object of the verbal noun is clausal, not phrasal; it precedes the verbal noun and is not tied to it by the genitive case. Instead, the verbal noun is expressed with the transitive “a.”

SR Note: NSC doesn’t identify ‘book’ as being in the dative case (but the spelling would be the same).

34. Tha
am
balach

air

a

cheannach.

be.pres
the.sm
boy.sm

on/perf

poss.3sm
buy.vn

‘The boy has bought it.’

Note: See [32]-[33]. Note that the exception noted in [33] does not apply as the object of the verbal noun is pronominal; [34], like [32], is exactly like the progressive aspect minus the different preposition.

35. Tha
an
duine

’gam


mharbhadh.

be.pres
the.sm
man.sm
prog.poss.1s

kill.vn

‘The man is killing me.’

Note: Compare/contrast to [36]-[40].

36. Tha
an
duine

’gam


mharbhadh
sa.

be.pres
the.sm
man.sm
prog.poss.1s

kill.vn

emph

‘The man is killing me.’

Note: Compare/contrast to [38]-[40].

37. Tha
an
duine

’ga


mharbhadh
fhèin.

be.pres
the.sm
man.sm
prog.poss.1s

kill.vn

self

‘The man is killing himself.’

Note: Compare/contrast to [38]-[40].

38. Tha
an
duine

air

mo

mharbadh.

be.pres
the.sm
man.sm
on/perf

poss.1s

kill.vn

‘The man has killed me.’

Note: Compare to [35]. Note that the structure remains the same except for the different preposition specifying the different aspect. (The different forms of the word for “my” are a phonological phenomenon.) 

39. Tha
an
duine

air

mise

a

mharbadh.

be.pres
the.sm
man.sm
on/perf

1s.emph
tran

kill.vn

‘The man has killed me.’

Note: Contrast to [36]. Note that instead of using the specifying enclitic after the verbal noun, here in the perfective aspect the verbal noun is preceded by the transitive marker instead of a possessive pronoun, and the pronoun which is the verbal noun’s object is no longer in its possessive, but its emphatic form.

40. Tha
an
duine

air

e
fhèin
a
mharbadh.

be.pres
the.sm
man.sm
on/perf

3s
self
tran
kill.vn

‘The man has killed himself.’

Note: Contrast to [37]; compare to [39]. Again, we see here that the pronoun is not possessive, but is emphatic, while the verbal noun is modified not by the pronoun but by the transitive marker. In other words, “ag” allows endocentric constructions but “air” does not.

41. Tha
an
duine

gus

falbh.

be.pres
the.sm
man.sm
towards
leave.vn

‘The man is about to leave.’

Note: Compare to [32]. Demonstrating the prospective aspect, syntactically identical to the perfective; the preposition “gus” is used in place of “air.” See also [42-5].

SR Note: NSC: the s on ‘gus’ is unnecessary before a consonant.

42. Tha
an
duine

gus

an
leabhar

a
cheannach.

be.pres
the.sm
man.sm
towards
the.sm
book.sm.dat
tran
buy.vn

‘The man is about to buy the book.’

Note: See [41]. Compare to [33].

SR Note: NSC does not identify ‘leabhar’ as being in the dative.

43. Tha
an
duine

gus

a

cheannach.

be.pres
the.sm
man.sm
towards
poss.3sm
buy.vn

‘The man is about to buy it.’

Note: See [41]. Compare to [34].

44. Tha
an
duine

gus

e
fhèin
a
mharbhadh.

be.pres
the.sm
man.sm
towards
3sm
self
tran
kill.vn

‘The man is about to kill himself.’

Note: See [41]. Compare to [40].

45. ???Tha
an
duine

gus

e
fhèin
a
mharbhadh

be.pres
the.sm
man.sm
towards
3sm
self
tran
kill.vn

a-màireach.

tomorrow

???‘The man is about to kill himself, tomorrow.’

Note: See [41]. Note that while the primary meaning expressed by the prospective aspect is of action about to happen in the immediate future, when modified by an adverb denoting a more remote time, it can express this sense as well.
SR Note: NSC did not find this more than very marginally grammatical.

46. Tha
Iain
gus

a

dhinnear
ithe.

be.pres
John
towards
poss.3sm
dinner

eat.vn

*‘John is about to finish his dinner.’

‘John is about to eat his dinner.’

[Note: Showing how verbs that contain a potential “completive” sense will display this sense after “gus.”]

SR Note: NSC did not have this completive sense reading.

47. Tha
Iain
gus

tòiseachadh
air
a

dhinnear.

be.pres
John
towards
begin.vn
on
poss.3sm
dinner

‘John is about to begin his dinner.’

Note: Showing how the English sense of “John is about to eat his dinner” can be expressed in Gaelic, given that the verb “eat” will give the Gaelic sentence a different meaning.

SR Note: For this NSC, [46] would also express this meaning.

SR Note: NSC deletes ‘s’ on ‘gus’ before consonants.

48. Tha
Iain
air

a
bhith
a’
togail

an
taighe.

be.pres
John
on/perf

tran
be.vn
at/prog
build.vn
the.sm
house.sm

‘John has been building the house.’

Note: Showing the combination of the perfect and progressive aspects.

49. Tha
Iain
gus

a
bhith
a’
togail

an
taighe.

be.pres
John
towards
tran
be.vn
at/prog
build.vn
the.sm
house.sm

‘John is about to be building the house.’

Note: Showing the combination of the prospective and progressive aspects.

50. Tha
Iain
air
a
bhith
gus

an
taigh

be.pres
John
on/perf
tran
be.vn
towards
the.sm
house.sm

a
thogail

(o
chionn

bliadhna).

tran
build.vn
from
occasion.dat
year.gen

‘John has been about to build/complete the house (for a year).’

Note: Combination of perfect and prospective.

51. Tha
Iain
gus

a
bhith
air
an
taigh

a


be.pres
John
towards
tran
be.vn
on/perf
the.sm
house.sm
tran

thogail.

tran.vn

‘John is about to have built the house.’

[‘John has been about to have built the house.’—This was the translation in MacAulay—incorrect]

Note: Combination of prospective and perfect.

52. Tha
Iain
air
a
bhith
gus
 a
bhith
a’
togail

be.pres
John
on/perf
tran
be.vn
towards tran
be.vn
at/prog
build.vn

an
taighe.

the.sm
house.sm

‘John has been about to be building the house.’

Note: Combination of perfect, prospective, and progressive aspects.

53. ??? Tha  Iain
gus

a
bhith
air
a
bhith
a’
togail

be.pres
  John
towards
tran
be.vn
on/perf
tran
be.vn
at/prog
build.vn

an
taighe

dà
bhliadhna.

the.sm
house.sm.gen
two
year

‘John is about to have been building the house for two years.’

Note: Combination of prospective, perfect, and progressive aspects.

SR Note: Questionable grammaticality in MacAulay (one ?) as well as NSC (closer to ungrammatical)

54. Bha
e
air
a
bhith
air
a
dhìnnear
ithe


be.past
3sm
on/perf
tran
be.vn
on/perf
tran
dinner

eat.vn

uair
a’
thìde
roimh’n
sin.

hour
the.sm
time
before

dist

‘He had eaten his dinner an hour before.’ [lit something like ‘He had been having eaten his dinner’]

Note: Showing how, on rare occasions, two perfect aspects can be combined.

55. Tha
Iain
a’
dol
a
cheannach
an
leabhar.

be.pres
John
at/prog
go.vn
tran
buy.vn

the.sm
book.sm

‘John is going to buy the book.’

Note: Showing how “a’ dol” can express intention or else merely prediction. With an actor/agentive subject it can express either; with an experiencer subject it is obviously predictive (see [56-57])

56. Tha
Iain
a’
dol
a
thuiteam.

be.pres
John
at/prog
go.vn
tran
fall.vn

‘John is going to fall.’

Note: See [55].

57. Tha
Iain
a’
dol
a
bhàsachadh.

be.pres
John
at/prog
go.vn
tran
die.vn

‘John is going to die.’

Note: See [55].

58. Thubhairt
Iain,
“Tha
an
latha
fuar.”

say.past
John
be.pres
the.sm
day.sm
cold

‘John said, “The day is cold.”’

Note: Showing that many verbs of reporting, requesting, and commanding can take a direct speech sentential complement.
59. Thubhairt
Iain
ri
Anna
gun

robh
an
latha
fuar.

say.past
John
to
Anna
DeclComp
be.past
the
day
cold

‘John said to Anna that the day was cold.’

Note: Showing the basic verb of reporting, “abair,” meaning “to say,” which takes a finite clause complement.

60. Dh’innis
Iain
do
Anna
nach

do
cheannaich
e
an

tell.past
John
past
Anna
NegComp
past
buy.vn

3sm
the.sm


leabhar.


book.sm


‘John told Anna that he did not buy the book.’

61. Dh’fhaighnich
Iain
do
Anna
an

do
cheannaich
i
an

ask.past
John
past
Anna
NegComp
past
buy.vn

3sf
the.sm


leabhar.


book.sm


‘John asked Anna if she bought the book.’

Note: Showing that the basic verb for requesting information (“faighnich,” “to ask,”) is similar to “abair” except that the complement clause is introduced by the interrogative instead of the affirmative particle.

62. Dh’iarr

Iain
air
Anna
an
leabhar

a
cheannach.

ask.past
John
on/perf
Anna
the.sm
book.sm
tran
buy.vn

‘John asked Anna to buy the book.’

Note: Showing “iarr,” the verb for requesting things and actions. It takes a non-finite clausal complement.

63. Thubhairt
Iain
ri
Anna
an
leabhar

a
cheannach.

say.past
John
to
Anna
the.sm
book.sm
tran
buy.vn

‘John told [said to] Anna to buy the book.’

Note: Showing “abair” used as a command verb, in which case it takes a non-finite clausal complement.

64. Thug

Iain
air
Anna
an
leabhar

a
thoirt
 do
Mhàiri.

give.past
John
on/perf
Anna
the.sm
book.sm
tran
give.vn
 to
Mary

‘John made Anna give the book to Mary.’

Note: Showing the basic causative construction, which takes a non-finite clausal complement.

65. Thàinig
air
Anna
an
leabhar

a
thoirt
 do
Mhàiri.

come.past
on/perf
Anna
the.sm
book.sm
tran
give.vn
 to
Mary

‘Anna had to give the book to Mary.’

Note: An agentless version of [64].

66. Feumaidh
Iain
an
leabhar

a
cheannach.

need.fut
John
the.sm
book.sm
tran
buy.vn

‘John must [has to] buy the book.’

Note: Showing a modal verb with a non-finite clausal complement. Modal sentences are syntactically similar to report, request, and command sentences.

67. Faodaidh
Iain
an
leabhar

a
cheannach.

may.fut
John
the.sm
book.sm
tran
buy.vn

‘John may [has permission to] buy the book.’

68. Chan
fheum
Iain
an
leabhar

a
cheannach.

not
need
John
the.sm
book.sm
tran
buy.vn

‘John mustn’t buy the book.’

SR Note: MacAulay listed ‘John need not buy the book’ as the translation; NSC gave this translation.

69. Chan
fhaod
Iain
an
leabhar

a
cheannach.

not
may
John
the.sm
book.sm
tran
buy.vn

‘John may not [doesn’t have permission to] buy the book.’

Note: The negative form of [67]; one way to denote a negative imperative. 

70. ??Feumaidh
Iain
gun

an
leabhar

a
cheannach.

need.fut
John
DeclComp
the.sm
book.sm
tran
buy.vn

‘John must not buy the book.’

SR Note: NSC said this one was “pushing it” grammaticality-wise.

71. Is

còir
do
Iain

an
leabhar

a
cheannach.

cop.pres
right
to
John.dat
the.sm
book.sm
tran
buy.vn

‘John should buy the book.’

Note: Showing that when “is” is used to introduce a modal complement, the subject is a non-finite clause.

72. Is

dòcha
   nach

do
cheannaich
Iain
an
leabhar.

cop.pres
possible  NegComp
past
buy.past
John
the.sm
book.sm

‘It is possible that John didn’t buy the book.’

73. Tha
Dia
ann.

be.pres
God
in.3sm

‘God is there.’

Note: Showing “tha” used in existential sentences in conjunction with “ann.”

74. Tha
daoine
ann
a

chanas

nach

eil

Dia


be.pres
man.p
in.3sm
WhComp
say.RelFut
NegComp
be.pres.dep
God

ann.

in.3sm

‘There are people who say that God does not exist.’

75. Tha

an
t-Earrach
ann.

be.pres

the
Spring

in.3sm

‘There is [such a thing as] Spring.’ [As in, “There are only three seasons: fall, winter, and summer. No, there’s spring!”

76. Tha
an
t-uisge

ann.

be.pres
thes.m
water.sm
in.3sm

‘The rain is here’/ ‘It’s raining.’

77. ?Tha

am
èirigh
ann.

be.pres

time
rise.vn
in.3sm

‘It is time to rise/get up.’

SR Note: NSC “not keen” on this one; emailing to other NS to get their judgment

78. Tha
Iain
na


shaighdear.

be.pres
John
stat/in.poss.3sm
soldier.dat

‘John is a soldier.’

Note: Showing that “tha…ann” can also be used in a complex classificatory sentence.

79. Tha
Anna
na


h-oileanach.

be.pres
Anna
stat/in.poss.3sm
student

‘Anna is a student.’

Note: Note that in [78-79], the preposition of the predicate must agree with the subject.

80. Tha
an
duine

a’
suidhe.

be.pres
the.sm
man.sm
at/prog
sit.vn

‘The man is sitting down.’

Note: Showing the structure used to express a dynamic action; compare [81].
SR Note: NSC would also use this version to mean ‘The man is seated’.
81. Tha
an
duine

na


shuidhe.

be.pres
the.sm
man.sm
stat/in.poss.3sm
sit.vn

‘The man is seated.’

Note: Showing the structure used to express a static state; compare [80]. Also note the structure is the same as that used in complex classificatory sentences ([78-79]).

82. Tha
Iain
a’

cadal.

be.pres
John
at/prog

sleep.vn

‘John is falling asleep.’

Note: Showing that “cadal” and a few other verbs have a “dynamic” meaning when paired with “aig.” Cf. [83].

SR Note: NSC can also use this to mean ‘John is asleep.’

83. Tha
Iain
na


chadal.

be.pres
John
stat/in.poss.3sm
sleep.vn

‘John is asleep.’

Note: Showing that “cadal” and a few other verbs must be paired with “ann” to gain a “stative” meaning. Cf. [82].

84. Tha
e
gus

a

bhiadh
ithe.

be.pres
3sm
towards
poss.3sm
food
eat.vn

‘He is about to eat his food.’

SR Note: MacAulay translated as ‘He is about to finish eating his food’; used this example to show that some verbs in Gaelic, like “ithe” (“eat”) and “òl” (“drink”) include a sense of completion which they do not have in English, so that simply by saying them the action is considered to be in the past. But NSC did not agree with this translation.

85. Tha
e
gus

falbh.

be.pres
3sm
towards
leave.vn

‘He is about to leave.’

86. Tha
e
gus

tòiseachadh
air
a

bhiadh
ithe.

be.pres
3sm
towards
begin.vn
on/perf
poss.3sm
food
eat.vn

‘He is about to begin eating his food.’

SR Note: MacAulay translated as ‘He is about to eat his food’, showing how one would express the idea of being about to begin the action described by a completive verb. NSC did not agree with that translation.

87. Bithidh
Iain
tinn
a-màireach.

be.fut

John
sick
tomorrow

‘John will be sick tomorrow.’

Note: An example of “bithidh” with an adjunct clarifying it as future tense.

88. Bithidh
Iain
tinn
[a h-uile]
latha.

be.fut

John
sick
all

day

‘John is sick every day.’ [Lit ‘John will be sick every day.’]

Note: An example of “bithidh” with an adjunct giving it a reiterative aspect.

89. Bithidh
Iain
tinn,
[‘s docha].

be.fut

John
sick
perhaps

‘John is/will be sick, maybe.’

Note: An example of “bithidh” with an adjunct making it a speculative modal. 

SR Note: NSC prefered the future reading
90. Bhitheadh
Iain
tinn.

be.cond
John
sick

‘John would be sick.’

Note: Showing the basic conditional tense of “tha,” which, like the future tense, is quite ambiguous and can refer to a wide range of tenses depending on the adjunct. MacAuley calls it “indefinite II,” not “conditional.”
91. Bhitheadh
Iain
tinn
[a h-uile]
latha.

be.cond
John
sick
all

day

‘John would be/used to be sick every day.’

Note: Showing the conditional tense of “tha” with an adjunct that places it (most likely, depending on context) in the conditional past.
92. Bhitheadh
Iain
tinn
a-màireach
nan
itheadh

e
sin.

be.cond
John
sick
tomorrow
if.dep
eat.cond
3sm
dist

‘John would be sick tomorrow if he ate [were to eat] that.’

Note: Showing the conditional tense of “tha” with an adjunct that keeps it in the conditional.
93. Bithidh
Iain
tinn
ma
dh’itheas
e
sin.

be.fut

John
sick
if
eat.RelFut
3sm
dist

‘John will be sick if he eats that.’

Note: Showing that while “indefinite II” (the “conditional” tense) appears in the matrix when the subordinate, conditional clause is marked with a conditional verb, “indefinite I” (the “future” tense) appears in the matrix when the subordinate, conditional clause is marked with a relative verb.

94. Ithidh
Iain
aran.

eat.fut
John
bread

‘John eats bread./John will eat bread.’

Note: Showing that verbs other than “tha” can take indefinite forms, and that without an adjunct to specify their tense, they have a “generic” meaning.

95. Ithidh
Iain
aran
ach
cha
bhi

e
ga

ithe.

eat.fut
John
bread
but
not
be.fut.dep
3sm
prog.poss.3sm
eat.vn

‘John eats bread, but he doesn’t eat it very often.’ [Lit ‘John will eat bread but he will not be eating it.’

Note: Showing how the future “tense” can be used to express the “generic” tense and the “habitual” tense (which coincides in operation with the “reiterative.”)
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